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paper seal on the edge of this cover page. Do not accept
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booklet.
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After this verification is over, the Test Booklet Number
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TOURISM ADMINISTRATION AND MANAGEMENT
Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Substantial revenue generated in tourism is termed as ‘pink dollar’ by which segment of
population ?
(1) Females (2) Children
(3) LGBT (4) Honeymooners

2. Which luxury tourist train is named after the world Heritage site in India ?
(1) Golden Chariot
(2) Palace on Wheels
(3) Mahaparinirvan Express

(4) Deccan Odyssey

3. People who are descendants from the original ethnic group(s) in a country are known as

the
(1) Indigenous population (2) Original population
(3) First population (4) Host population

4.  Match List — I with List — II and select the correct answer using the codes given below :

List—1 List— 11
(Theme) (Date)
a.  World Tourism Day 1. 18™ April

b.  International Museum Day  ii.  27™ September
c.  World Heritage Day iii. 5™ June
d.  World Environment Day iv. 18" May

Codes :

a b c d
(Hh) i i i iv
2) i i iv i
3) 1 v i 1
@ i iv i il
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5. Identify the correct sequence of stages in Life Cycle of a resort given by Butler.
(1) Exploration — Development — Involvement — Consolidation — Stagnation —
Decline / Rejuvenation

(2) Exploration — Development — Consolidation — Involvement — Stagnation —
Decline / Rejuvenation

(3) Exploration — Involvement — Development — Consolidation — Stagnation —
Decline / Rejuvenation

(4) Exploration — Involvement — Consolidation — Development — Stagnation —
Decline / Rejuvenation

6.  The full form of ITIPT is :
(1) International Institute for Peace through Tourism
(2) Indian Institute for Peace Tourism
(3) Indo-Islamic Peace Tourism

(4) International Institute for Pacific Tourism

7. Fill-up the blank space with an appropriate option given below :

‘ICOMOS proposed that ......... be immediately placed on the World Heritage in Danger
List.’

(1) Hiran Minar (2) Timbuktu

(3) Sluice gate (4) Virupaksha Temple (Hampi)

8.  Match List — I with List — IT and select the correct answer using the codes given below :

List—1I List— 11
(Heritage site) (Name of Place)
a.  Rasmancha Temple 1. Patan
b.  Rani-ki Vav ii.  Bishnpur
c.  Sahastralinga Talav iii.  Goa
d.  Basalica of Bom Jesus iv.  Patan

Codes :

a b c d
(H i iv 1 il
2) i 1 iv i
3) i i i v
@ i i i v
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9.  Padmanabhapuram Palace is located in
(1) Tamil Nadu (2) Andhra Pradesh
(3) Kerala (4) Karnataka

10. Cross-cultural studies are an example of
(1) Case study
(2) Comparative study
(3) Experimental study
(4) Cross-section study

11.  Which of the following is not a dish from Rajasthani cuisine ?
(1) Gattey-ka-Saag (2) Sanghari
(3) Tunde ke kabab (4) Ghewar

12. In order to promote human resource development for hospitality and tourism sector in
India, Ministry of Tourism, Government of India has launched following schemes :

(a) Central Financial Assistance Scheme
(b) Hunar Se Rozgar Tak

(c) Shiksha Mitra

(d) Paryatak Mitra

Codes :
(1) (a), (b) & (c) (2) (a),(b) & (d)
(3) (b),(c) & (d) 4) (a),(c) & (d)

13. A plan that includes hotel room tariff with full meals i.e. Breakfast, Lunch & Dinner is

known as
(1) European plan (2) Continental plan
(3) Demi-pension plan (4) En-pension plan
14. is whole, pasteurized and treated so that its fat globules are broken to the extent

that there is no separation of fat from milk.
(1) Homogenized milk (2) Skimmed milk
(3) Condensed milk (4) Whole milk
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15.

16.

17.

18.

19.

The Indian Tourism Development Corporation Limited (ITDC) was established in year

(1) 1956 2) 1966
(3) 1976 4) 1946

Cunard, Carnival and Princess are names of the
(1) Event Management Companies

(2)  Cruise Line Companies

(3) Travel Agencies

(4) Flight Catering Service Companies

Match the items in List — I with those in List — II and select the correct answer using the

codes given below :
List—1I
(Airport’s Name)
a.  Lal Bahadur Shastri International Airport 1.

b.  Veer Savarkar International Airport 1l.

c.  Lokpriya Gopinath Borodoloi International Airport iii.

d.  Dr. Baba Saheb Ambedkar International Airport v.
Codes :
a b c d
(1) i i i iv
2) i v il i
3) i i il v

@) i i i v

Which railway station is at the highest altitude in India ?
(1) Ooty (2) Shimla
(3) Ahju (4) Ghum

Which railway network is first in the world to provide internet service on trains ?

(1) Eurail (2) Amtrak

List— 11

(City)
Nagpur
Guwabhati
Varanasi

Port Blair

(3) Indian Railways (4) Trans-Siberian Railways

Paper-I1 8
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20.

21.

22.

23.

Which of the following from the codes given below finds place in the UNESCO World
Heritage List of India :

L Konkan Railway

II.  The Darjeeling Himalayan Railway
III.  Nilgiri Mountain Railway

IV. Kalka-Shimla Railway

Codes :
(1) I & I are correct. (2) IL I & IV are correct.
(3) L I &1V are correct. (4) Only I 1is correct.

Match the items in List — I with those in List — II and select the correct answer using the
codes given below :

List—1 List— 11
(City) (IATA city code)
a.  Port Blair 1. IXW
b.  Mangalore . IXU
c. Jamshedpur iii. IXZ
d. Awurangabad iv. IXE

Codes :

a b c d
(1) i iv i i
() i i iv i
3) iv i i i

@ i i i v

Duniya Dekho and Bharat Dekho are products of
(1) Thomas Cook (2) Cox and Kings
(3) Make My Trip.com (4) Yatra.com

In 1996, Sabre was the first GDS to venture online with its launch of one of the following
virtual agency :
(1) expedia.com (2) travelocity.com

(3) lastminute.com (4) cebookers.com

Paper-I1 10 J-93-16
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24,

25.

26.

217.

28.

Vladimir Raitz, a well-known travel agent, founded a travel agency was named as
(1) Thomson Holidays (2) Horizon Holidays
(3) Lunn Poly (4) Karstadt

Ask Mr. Foster Travel Agency founded in 1888 was acquired by one of the following

travel company :
(1) Thomas Cook (2) American Express
(3) Thomas Holidays (4) Carlson Wagonlit Travel

Buyer decision process consist of different stages. Arrange the stages given below in the

correct sequence :

(a) Evaluation of alternatives

(b)  Purchase decision

(c) Need recognition

(d) Information search

Use the following code to choose the correct option :

(1) (©), (d), (a), (b) (2) (@), (c), (d), (b)
(3)  (d),(c), (a), (b) (4) (), (@), (), (b)

The process consisting of measuring market volumes, market shares and market revenues,
as well as profiling key elements of tourist needs including trends, developments and

changes in tourist characteristics, motivations and usage facilities is referred as
(1) Tourist Analysis (2) Demand Analysis
(3) Market Analysis (4) Competitor Analysis

A variant of market segmentation used in tourism and other business, where the number,

size and structure of sub-markets initially unknown is referred to :
(1) A priori segmentation

(2) A posteriori segmentation

(3)  Criterion segmentation

(4) Priority segmentation

Paper-I1 12 J-93-16
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29.

30.

31.

32.

33.

Read the following statements and choose your answer from the codes given below :

Assertion (A) : In most hospitality services, both the service provider and the customer
must be present for the transaction to occur.

Reason (R) : Customers are part of the product consumption process.

Codes :

(1) (A)is true but (R) is false.

(2) (A)is false but (R) is true.

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

One of the important recent developments has been the emergence of Vertical Marketing
Systems (VMS) to challenge conventional distribution systems. Which one of the
following is NOT a type of Vertical Marketing System (VMS) ?

(1) Administered VMS (2) Corporate VMS
(3) Centralized VMS (4) Contractual VMS

In 2012, the Global Sustainable Tourism Council released the Global sustainable tourism
criteria for hotels, tour operators and destinations. The GSTC based on 37 criteria does not
include one of the following :

(1)  Sustainability management

(2) Maximising social and economic benefits
(3) Cultural protection

(4) Social protection and preservation

The UNWTO adopted pro-poor tourism concept, endorsing the Sustainable Tourism-
Eliminating Poverty (STEP) in one of the following year :

(1) 1999 (2) 2000
(3) 2003 (4) 2005

Which one of the following is the correct statement of Article-2 as per the Global Code of
Ethics for Tourism as adopted by UNWTO in 1999.

(1) Tourism’s contribution to mutual understanding and respect between peoples and
societies.

(2) Tourism a user of the cultural heritage of mankind and contributor to its
enhancement.

(3) Tourism as a vehicle for individual and collective fulfilment.

(4) Tourism beneficial activity for host countries and communities.

Paper-I1 14 J-93-16
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34.

35.

36.

37.

38.

39.

The tourism approach adopted under neoliberal ideology is one that puts emphasis on one
of the following :

(1) Development first (2) Environment first

(3) Tourism first (4) Community first

Common pool resources in tourism as distinguished by Ostrom in 1990 do not include one
of the following rights :

(1)  Ownership rights (owners)
(2) Use rights (appropriators)
(3) Partnership rights (collaborators)

(4) Utilization rights (consumers)

Which is not a non-parametric statistical tool to test hypothesis ?
(1)  Phi coefficient (2) Cramer’s-V
(3) Mann-Whitney (4) t-test

On a contingency table having 6 rows and 5 columns, how many degrees of freedom
should be used to apply chi-square test ?

(1) 20 2) 12
3) 30 4) 25

When the researcher divides his population into certain groups and fixes the size of the
sample from each group, this sample is called

(1) Stratified sample (2)  Quota sample
(3) Cluster sample (4) Purposive sample

Consider the following problematic situations :

1. A student is abnormally withdrawing in nature.

2 Considerable number of students always score low in your subject.

3. Students are found to create disturbances in the class of a particular teacher.

4 Inspite of warning most of the students of a class are irregular with assignments.

Which of the above wants action research ?
(1) 2and4 (2) 1,2and4
(3) land4 (4) 2and3

Paper-I1 16 J-93-16



34.

35.

36.

37.

38.

39.

F9-ITRAR FaRERT & AT ST T g SUMTH (ZReH wore) He=faiad o ¥ fohd w aet
AT ?

(1) forepre veet (2) TEERT e

(3) A TEe (4) TR e

1990 T 3T 5T fauE fohT T T2ies | |1eN U1 & GareHi # efeiad § 9 &9 9§ SaeR
I &l 2

(1) e Gaet SR (L)

(2) v Feer AR (o)

(3) TR TEH AP (TEANTHT)

(4) ST GEHt TR (ST

Wb T (BENATEE) % Wit & fou fFafafad § & &F |1 U TR Fiieehid 3o
([AF-IRTHIe R R o) & € 2

(1) T FEHEEE (2) shEd

(3) TA-faee (4) A=

6 Ul 2T 5 TR STl Uk 3TThiHe dlfcTehl H hTE-Tea) o3 & S&IAT o o Tad=ar st
ToheIT AT BT SURNT TohaT STHT e 2

(1) 20 2) 12

(3) 30 4) 25

STa ST SO STHHEN S O FUET § diedl ¢ 3R Ui 998 & T Hl SHR HERd Ham
%‘,Fﬁ%ﬂmﬁqﬁWW%:

(1) TP T (ERS §79e)  (2) PRI TL

(3) T T (4) TR T (T Fe)

Trfetiae T fefaar W faar st

1. U O & FHEE &9 H G T8 T @8 |

2. % O TS [auF § gHIM HH 37 U A ¢ |

3. O Rl foe frete s T | ey UeT S §U Uil S € |

4. Tndt F=T % O TG F OSSP AT BT (TAETHEE) | AT & § |
ST H F foft W TRH R (Fraicqeh INY) S Savaehdl § 2

(1) 23R4 (2) 1,234

(3) 134 (4) 233
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40. Match List — I with List — II and select the correct answer using the codes given below the

lists :
List—1

a.  Interquartile range

b. Standard deviation

C. Variance

d.  Measures of variability

Codes :

a b c d
) i i i v
) i iv i i
(G) i v i i

@) iv i i i

ii.

iil.

1v.

List— 11
The mean squared deviation of all

the values from the mean.

A statistic that indicates the

distributions dispersion.

The range of distribution
encompassing the middle 50 percent

of the observations.

The square root of the variance.

41. Who propounded 5Ps model of philosophy, polices, programmes, practices and processes ?

(1) Kaplan
(2) Jackson
(3) Gullick
(4) Schuler

42. In any organisation
1. Cognition
2. Behaviour
3. Performance
(1) Employee Sourcing
(2) Employee Training
(3) Performance Appraisal
(4) Reward System
Paper-I1

involves three stages :
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40. gt — [ G — 11 & 91 GRfAd BT 3 T 58 T e 1 7G0T Hd gU Tal I I

T

(D
)
3)
4

= - |
FFEA I (HRTqIF .
RIEER!
Wrse S ([FE ii.
Toreret )

INUG (TR iii.
O1g 31 aRufaied] iv.
(TEROTT & HTT)

i1 iv

—

i v 1 i
i v il

v i a1

= - 1
e % Wl A R WS GHMEad
T |
Teh Fifeash, S s & aETer i 2T
FATE |
EAHA & HEAAA 50 WA

qRETed T dTed S hl TEY

TEROT T o e

41. <9, FfqEr, HIEEHAT, GR-aleh (UTdedsT) SR Uihaneti o 5 O, Higel 1 foha- Uiqume- fohar o1 ?

(1
)
3)
4

42. gl off ST H

1.
2.
3.

HITA
SR

Tt
R

Y
TER

feame (RRIE=)

I B & |

(1
)
3)
4
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43. Match the communication barriers in List — I with their types in List — II, using the codes

given below the lists :
List— 1

a.  Personal barriers

b.  Semantic barriers

c. Technical barriers

d.  Organisational barriers

Codes:

a b c d
(H 1 i i i
2) i i i v

(3) iv i i i

@) iv i i i

1il.

1v.

List—11
Geographical distance
Bureaucratic
Signs and symbols

Five senses

44. With respect to Herzberg’s Two Factors Theory of Motivation, which of the following

statements are correct ?

L. Motivators are internal job factors.

II.  Salary is included in the motivation list.

III. Hygiene factors are located in the environment.

IV. Hygiene factors include achievement and recognition.

(1) Both I and III are correct.
(3) BothIand IV are correct.

45. Assertion (A) : MBO stresses on goals rather than the method.
Reason (R) : Subordinate participation is the foundation of MBO.

(2) Both Il and IV are correct.
(4) Both IIl and IV are correct.

Select the correct answer from the following :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) Both (A) and (R) are wrong.

(4) (A)is correct but (R) is wrong.

46. The maximum capital beyond which a company is not allowed to raise funds, by issue of

shares is its
(1) Issued share capital
(3) Authorised share capital

Paper-II

(2) Reserve share capital
(4) Subscribed share capital
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43.

44,

45.

46.

e 3T T Fe T VAT FA §C GAT — 1 T FOEOT st wF g — [ H [T T b THRT F
e gAfAT DT

et - | et -
a. sl Sramd i, oot 30
b. 37 fquge aramd i,  FTeRTTEl Hedt
c.  ThIh! aTEmE iii. e 3T wds
d. TS ST iv. U EEar

T

a b c d
(H i i i i
2 i i i v
3) iv i i i
4 iv i i ii

BT o TN Tl 31 e (ogid o o § Ffefad 3 @ & 9 e T8t € 2
[ W 3aeh S HRE e & |

II. 3 UROT gt | e eier € |

[II. r=ar SR Yaerol | ferd & € |

V. el HReh § Sueiied i el It eid € |

(1) TARMIIATE | (2) I3ARIV I T |

(3) 13RIV I T T | (4) MRV I T E |

Ao (A) © THETLSN. UF( % I 3L9AT W TA AT ¢ |
%R (R) ; STEFY RTIGRY UH. 31, &l STURFT ¢ |
TTaREd %e & T X §T Tel 3% 9T

(1) (A)Ta (R) I el & 3R (R), (A) i T& AR & |
(2) (A) T (R) 3HT T &, W (R), (A) Tl el A7 T&1 & |
(3) (AT (R)SHI T € |

4) (A)TEE W(R)TATE |

FeRdl ShUT I TR SR Y SRINT (gd) S[eM % aR H e stfeshan oSt & ifafe wimeT
ST Y Al TE ¥ 2

(1) o o (2) ol 2R S

(3) Tud IR Sl (4) N IR UST (TeTshIgss TR Ui
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47.

48.

49.

50.

Indicate the correct code matching the items in List — [ with those in List — 11 :

List -1 List— 11

L Acid test ratio a.  Liquidity position
II.  Leverage ratio b.  Asset management efficiency
III. Turnover ratio c.  Management of capital
IV. Current asset ratio d.  Debt and equity relationship
Codes :

I o o 1v
(1) d a c b
(2) a d b C
3) b c a d
4 d a b c

The following information pertains to a company :

L Equity share capital called up ¥ 5,00,000

II.  Calls in arrears ¥ 40,000

III. Calls in advanced ¥ 25,000

IV. Proposed dividend 15%

What is the amount of dividend payable ?

(1) % 75,000 (2) T72,750
(3) 71,250 4) 369,000

Which of the following are applicable for preparation of funds flow statement ?

A. Decrease in working capital is a source of fund.

B.  Operational loss is a source of fund.

C. Introduction of fresh capital is an application of fund.
D. Addition of fixed assets is an application of fund.

(1) Both AandB (2) Both A and D
(3) BothBandC (4) BothCand D

Which of the following factors are responsible for low inventory ratio ?
L. Slow moving inventory

II.  Some of the stock becoming obsolete

III.  Frequent stock-outs

IV. Fast moving inventory

(1) onlylandII (2) only Il and IV

(3) only IT and III (4) onlylV
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47.

48.

49.

50.

el — [ i W&1 o1 Gl — [1H &1 7T 7T o A1 GHfeld HiteTT i) el e adTeu :
e - | =t - 11

[ O R s (ufas 2% Y et fefa

II. 3o o (fetasst ) R Uee HeTera

. =TeEE st RT3 (SIeiay e c.  USH &y

IV. g9 9IRS FOT R gl Fay

- T

[=N

ISE

o

n 1 1
(1)
2)
G)
(4)

0 o o o~
® 0 A
o ® T 0
o a0 o

oo

FrteiEe gemT ot ot | Gated €

[ =E T (Fies 1) T 5,00,000 S AT G

II. s T 40,000 3t T (hicd )

L. 31 T 25,000 B AT (Hied )

IV. UAIad AnieT 15 wiaerd

I AT HY AT Bt & 2

(1) 75,000 () %72,750
(3) T71,250 4) %69,000

fafet & ware TaHt aed (hed el WeHe) i ARl % folt Fefafed o & iR mard § 2
A.  HESI ST | T (R B U AT S e |

B. VECHIGTE g1 ATy 1 U Ad gar € |

C. € YST o1 yaI9T MY T Uk STyEnT el ¢ |

D. 3= UREEE! H TS (4 1 T ST B § |

(1) A IARXBTAT (2) AR DIA

(3) BeRCTA (4) C3RDzA

=1 I SO (o7 el AT % T R SR FEfaEd A ¥ 9 E 2
[ TR a&qe (Sl g e

. Wi & 5 e s giqr

. SR -3

IV. - sy (R Jie eaw)

(1) waer] ARl (2) HEA I AR IV

(3) et I1 R 111 4) FEAIV
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